Contract 2010-2
Verify Dissolved Oxygen standards, 1950’s data (line P)
Cruise 56-1


Thio. = .1
flask = 100 ml
f=.800

P-56-2


Standard = 9.90ml
f = .809

Oxygen data in mg O2/l

P-57-1


Stn 4
Factor= 10/100*8*10/9.69 = .826


Stn 2
9.98
f= .801


Stn 3
9.91
f=.807


Stn 4

f=.808


Stn 5

f=.798


Stn 6,7,8
f=.800

P-57-2


Stn 1
Thio=.01N
flask 100ml
factor=.8


Stn2
standard 10.11 and 10.12
f=.791


Stn 3
standard 10.10 and 10.15
f=.793

Stn 4
standard 10.13 and 10.10
f=.790


Stn 5
standard 9.96 and 10.07
f=.798


Stn 7




f=.798


Stn 9
standard 10.20 and 10.14
f=.786


Stn 11
standard 10.20 and 10.24
f=.782

P-57-3  oxygen in mg at O2/l


Stn 1,2

170/168*5/100*10.00/v*v = .0506



Standard 9.97 and 9.99.


Stn 3,4
standard 10.25


f=.0494

P-57-4


Mg at O2/l = .0503*f*V


Stn 1
standard 9.60


f=.0524


Stn 2-5
standard 9.65


f=.0522


Stn 6,7
standard 9.63


f=.0523

P-57-5


Stn 1,7
standard 9.52


f=.0528


Stn 8,10
standard 9.64

f=.0522

Stn 10A
standard 9.58

f=.0525

P-58-1


50 ml aliquots, 10ml burette, 5 ml standard.


F=.114, .1089

P-58-2 (new oxygen titration form used.)


10ml Iodate


standard=11.72
f=.0429


standard=11.51
f=.0436


standarad=11.64
f=.0432

P-58-3


5ml Iodate
thio=4.985
f=.1009

5ml Iodate
thio=4.95
f=.1016


5ml Iodate
thio=4.74
f=.1055


10ml Iodate
thio=9.76
f=.1031


for 50ml aliquot, f=v*.1006


for 100ml aliquot, f=v*.0503

P-59-1


10ml Iodate, thio=11.21
f=.892


                     thio=11.48
f=.897

P-59-2


10ml Iodate, thio=11.26
f=.0893 for 50ml aliquot





f=.0448 for 100ml aliquot

P-59-3


5ml Iodate, thio=5.77

f=.0866

P-59-4


5ml Iodate, thio=5.84

f=.0861

P-59-5


5ml Iodate, thio=4.58

f=.1098


5 ml Iodate, thio=

f=.1127


5 ml Iodate, thio=

f=.1129
